Differential Equations Practice WS (1-3)

1)

Given the differential equation g—% = — %ﬁ, find the particular solution, y = f(z),
with the initial condition f(—1) = 3.

Ay=V-2x+3

B)y= Y-3x2+30

C)y= V-3x2+24

D)y=V=-2x+7

E)y= -3x2-10

2) Given the differential equation ;/Tx = 6y , find the particular solution, y = f(x), with the initial condition
f(0) =2

3
Ay= /——Z-x2+x+2

B)y = +—3x% + 36x + 4

C)y = In|18x — 3x?| + 2
D) y= ele—BxZ +2

E)y= 26181—3::2



3)

Given the differential equation % = 2‘”y"1 , find the particular solution, y = f(z),

with the initial condition f(—3) = 6.

4)

What is the particular solution to the differential equation % = 22y with the initial
condition (3) = €7



5)

6)

Given the differential equation, ww' = t2sec?(2t®), find the particular solution , w = f(t), with the initial
condition w(0) = —4.

Given the differential equation, y'xlnx —y = 0, find the particular solution, y = f(x), with the initial
condition f(e) = e



